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E(X) =3.5

1(0,1)+ 2(0,3) + a(0,4) + b(0,2) = 3,5

2a+b=14

Var(X) = 2.65
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(@)

P(IX = 3| > 6

6
|= P(X < 3) + P(X >9) m'm\qardra}nw
P(Z<$)+P(z>¥) MI

P(Z<-2)+P(Z>2)
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Number of years used = § Bl

Sales for 1985:

y=1284+14.4(11) MI

= 5% 402 4 (g woo Al
Annual increase in sales = 14.4 /|Lg, W ow Bl
= Et Mi

= 23,67 +0,1x
To move origin to 15 July 1980, add 36,5 increments of 0,1 to
23,67:
y = 23,67 +36.5(0,1) + 0,1x M1
= 27.32+0,1x Al
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Forx>10, F(x) = 19 fx dt
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For x < 10, F(x) =0

1_10
oe F(x) :{ ?1x> 10
0 , X <10

Y ~Bin (6,2)

P(Y23)=1-P(Y <3)
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= 1-034375

= 0,65625

P(A > 65)=P(2 > =)

6
= P(Z> -1.667)
= 0,9522

M= A, + A, + A; — (Bi + B2 + B3) ~N(30,183)

P(M > 0) = P(Z > =)

P(Z > —2.218)

Il

0,9867

H=A - 1.15 B ~N(0.25, 69.0625)

P(H > 0)=P(Z > jotes)
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(a) X ~ Bin(500,0.4)

np = 200> 5 and nq =300 > 5

X ~N(200,120) B1B1
P(X = 190) = P(189.5 < X < 190.5) Bl
- 189.5-200 190,5-200

P ( V120 <Z< 120 ) M

= P(-0,9585 <7 < - 0,8672)
= ®(0.9585) - (0.8672)

= 0,8312-0.8070

= 0,0242 Al
(b)  P(180 <X <210)=P(179.5 <X <210.5) Bl
_ 179.5-200 210.5-200
- P( i i< s ) M

= P(-1.871 < Z <0.9585)
= ®(1.871) + ©(0.9585) — 1

= 0,9694 +0.8312 — 1

= 0,8006 Al
(c) P(X>180)= P(X> 180.5) Bl
180.5-200
e i
= P(@Z>-1780)
= &(1.780)

= 0,9625 Al
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15 Ho:  Sample population has Poisson distribution
Ha:  Sample population has some other distribution

o = 0,01
df=8-1-0=7

Reject HO ifxfa[ > 18,48

Eo = 600x 2 = 492
Bi Ei (O—E)/E
34 49.3 yq.29( 4.723 .
131 123 0.504
160 153.9 0.242
136 128.3 0.467
72 80.2 0.838
37 40.1 0.240
22 16.7 1.682
8 8.5 0.029
X2, =8.725
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Since X2, = 8.725 < 18.48, we do not reject HO and conclude that vha L
the sample population has a Poisson distribution.
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